=> restart
> f=exp(2-x)

fi=e" 1)
> plot(f,x=—2.2,y=—1.50)
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L:=2 2
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> a[0]:= Z-int(ﬁx=—L..L);evalf(%)
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> a[n] = subs(sm(n-Pl) =0, cos(n-P1)=(—1)7, z-mt(f-cos( 7 -x),xZ—L..L))
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np + 16

> b[n]:= subs(sin(n-Pi) =0, cos(n-Pi)=(—1)", %-int(f-sin(

Pi
nL ! -x),x=—L..L))



et (=1)'pn—e*(=1)"pn

b oi=— 5
" np+ 16 ©)
> STF f:= a[20] —l—Sum(a[n] cos( n-Pi -x) +b[n]-sin( n.LPI -x),n=l..inﬁnity)
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> STF 5000 := @ +sum(a[n]-cos( ”L‘ -x) +b[n]-sin( LeS -x),nZI..SOOO) :
> plot(STF f5000,x=—L..L)
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> plot([ £, STF_f5000], x =—0.01 ..0.01)
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> plot([ £, STF_f5000], x=L — 0.05 .L)
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;> restart
> g := Heaviside(t — 5)
g = Heaviside(t — 5)

(> plot(g, t=—10..10, y=—1.2)
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> L:=10
L:=10 ®
> a[0] = %-int(g, t=—L.L);evalf (%)
1
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> a[n] = f-mt(gcos( I3 -t),t— L..L)
—sin(nTp) + sin(n p)
a, = np (10)
i | . . ( n-Pi B
> b[n]:= I -mt(g-sm( 7 t), t= L..L)
—cos(nTp) + cos(n p)
b =— (11)
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> STF g = % +Sum(a[n]-cos( n'LPI -t) + b[n]-sin( n-LP1 -t),n=1..inﬁnity)
) % (—sin(%p) +sin(np)jc0s( nly(o)t)
STF.g = + 2. s (12)

(—cos(nTlp) + cos(n p)) sin( nlzt ) J
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Pi Pi
> STF g5000 = %0] -l-Sum(a[n]-cos( "Ll -t) +b[n]-sin( ”L‘ -t),n=1..5000) :

(> plot(STF _g5000,t=—L..L y=—1.2)
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(> plot([g, STF_g5000],t=4.9.5.1, y=—1.2)
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;> restart
> f:=2- Heaviside(t — 2) + (¢ — 2)-Heaviside(t — 2) — 2- (¢t — 3)-Heaviside(t — 3) + (¢
— 4)-Heaviside(t — 4) — 2-Heaviside(t — 4) : plot(f,t=0..6)
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> g :=—2-Heaviside(t + 4) — (¢t + 4)-Heaviside(t + 4) + 2- (¢ + 3)-Heaviside(t + 3) — (¢
+ 2)-Heaviside(¢ + 2) + 2- Heaviside(z + 2) : plot(g, t=—6..0)




(> plot([g+ /1], 1=—6..6)




L=6 (13)

> a[0] = %-int( (f+g),t=—L..L)

a, =0 (14)

> a[n] —szmpllfy( mt((f—l— g)- cos( ”Lpi t),tz—L..L))
a =0 s)

> b[n]:= simplijjz(%-int((f—i—g sm( ) t=—L. LJJ
b = (16)

L (_ 2np np npY _ 5o (20D
nzpz( 4npcos( 3 )+4npcos( 3 )+24s1n( 2) 12s1n( 3 )
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> STF fg5000 := sum(b[n]sin(

n-Pi
L

-t), n=1 ..5000) :



> plot(STF fg5000,¢t=0..L)
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> h = 2-Heaviside(t + 4) + (¢ + 4)-Heaviside(z + 4) —2- (¢ + 3)-Heaviside( + 3) + (¢ + 2)
-Heaviside(# + 2) —2- Heaviside(t + 2) : plot((h + f),t=—6..6)
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> aal0]:= %-int( (f+h),t=—L.L)
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> aa[n] —szmplzﬁ/(z ((f+ h) cos( 7 ‘t|,t=—L. L)j
2
32cos(n—p) [cos(n—p) —ij (sm(—p) n—3cos(—p) +3)
6 6 4 6 6
aa, o) (18)
np
> bb[n] = simplij_‘j/(%-int((f—i- h)-sin( ”}JP‘ ” ,t=—L..L))
bb =0 (19)
> STF fh5000 = aal0] -l-sum(aa[n]-cos( n.LPI ) n—l..SOOO)

(> plot(STF_h5000,¢=0..L)
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